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EncodeTextStringToDiallingNumber

Description: 

Allows to convert a text string containing a phone number to a dialing number string as defined in 3GPP TS 31.111 [1], before using it in a Setup Call command (for example).

Attribute byte:

 ExitFlag not set (call)
Input arguments:

Variable or inline value containing a text phone number (result of a user input for example)

Output arguments:

Variable to contain the new phone number format: Length + TON/NPI + swapped nibbles coded according to 3GPP TS 31.111 [1]
Errors:

​​EXECUTE NATIVE COMMAND tag will return "Execution Error" in case of conversion error. (bad character set, invalid character detected,…)

Remarks: 

· The input variable must contain only digit characters and optionally "+",."*", "#", and "," characters in SMS default alphabet

· The "+" sign or a double zero ("00") as first part of the input variable indicates an international number (TON/NPI will be set to '91'), in the other case the TON/NPI will be set to national ('A1').

· The resulting value contains the length in its first byte (the total number of following bytes, including the TON/NPI byte) and is composed of digit characters and "A", "B", "C" signs, as specified in 3GPP TS 31.111 [1].

Examples:

· The execution of the plug-in with an input variable containing the string "+33442365000" will produce in the resulting variable the bytes '07 91 33 44 32 56 00 F0' and no error will be produced.

· The execution of the plug-in with an input variable containing the string "0033442365000" will produce in the resulting variable the bytes '07 91 33 44 32 56 00 F0' and no error will be produced.

· The execution of the plug-in with an input variable containing the string "0442365000" will produce in the resulting variable the bytes '06 A1 40 24 63 05 00' and no error will be produced.

· The execution of the plug-in with an input variable containing the string "04Z42365000" will not produce anything in the resulting variable and the error "Execution error" will be produced

